P

221 0] LJEFH 4=0] ¥ Qo] &361x] &

1
ez @75 @9

~&B

3
72—
@ 4

®)91.5

Z=Z o] LFERA 2=0] B 9= 65 %7} 90
Hoh 33 90 ¥ AL FLe 5

3 o
727 Ayt

STk et 5

1

—, 75.5, 90,
5







a| 6] [@] /\

fs] o\ B o]

@ 0-®

©®-0

® @-o

@S-




e 45

® =go| mepat 2717} 2
@ g dolst Payrt.

® gAY A4t 2ayt,
@) =42 o7t vrau.

® tezhd 2717t 24U,

ro,
l.|-1
ol
29
=
e
T
)
ofx
mlm
(L
Y,

oY, ®
ok
offt
S
I
ofl
rlo
He
=
3Q
o
g=h
e
2
=




SuiAe] AAEANH B A o223}

i~
ol

ﬂ____ =
ERY
ojp o1
oo

5.

® WouAE

A O X =z

e

AR 2] AAEANA A A 0= =7}

o




g goli= 252221 oS 6
SoE 59 Fot ot Q5 UTh Ut kR 2 &4
Y72

4o,

)
i
&

@ Bgol7} el Kt 3 %4 o
@ ejgol7t eurt 5 %4 o
@)t ggolnet 3 24 o
@ ve)7h Bjgoluct 5 24 o
® el7h Bjdol st 6 %4 o

4o,

o,
S A A A A
)Y
)
o

i)
T
o

o2}
Eal

)
L
i)

o]
=1

i)y
T
o

B9 1 252 + 6=42(%),
] 1 225+ 5=45(%F),
e 7t B gol ek kol 45 - 42=3 4 H

Agariet.




g Tt

o =49 el

b}
- 57cm~ -

-

[ ]
‘O

/
/

1
cm
\

\

— 0

| 7

= 24(cm?)




Hers &2 25 2 L7FEYR

1 3 1
® 9§L @) 15%—0L @19§L
@ 39L ® 58§L

L o] ol HeE seyo] 5t 5 A1 12 & &
™

o
R85




v VvV v Vv
0
it

0
it

i

it

75°

35°

o

o

=2 PPAHdo| 1 42+
Hatztgo|na
Zt2rn)="75°,
ZF 1EL)=235°




@ di-g®e dojet t-g-2he] 2717}

2 whd,

ol
NI

<
N

__,AO

]

Tt

ol
TH

o

YA
ol

oju
T
olo

T
Q

A
1Ayt

5 Eof ot 1 47k thE Y

_q]

O
RO

ol




11.

Lol Bol| #3525 HIE2E ¢ 7F27} 48.5cm, Al 27} 62.8 cm
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